1 2 _ 3 _ 4 _ S _ 6 _ 7 _ 8

3o 1 TR XETHEET AT EIEERAT R . xPlease send back with order while ordering. |&PHEY Confirmed
POESKA
(ko)
(FHA R ERSEREARE )
98 | \ 98 12 110 16, 6~M10x80
6~M6x12 22 —
-
MB84X2
> T
N N ¢ h\.ﬂk
- > T
] Q [\ _ 50 o
= = 3 o T| 5| 2 @ S =2 o
(@] _ 9o _ ] — L- N 0 _ m“ | % @) b
< ] © * o 5| Bl =| @ o 2 B = o
S s S| ® 9. 34 s| |15]] 35 s| 4
= =4 | = T
2x2~RC1/2 _ S
: 7
AU = N
Pressure Port M7ox2
TTessure rort o [
© P
4~M6x8 L-710] =
12~M10x20
74 5
L max.2>
—l— . = min.0
_ _ max.50 _ _
X o min2s|_ [[X]
war,
Drain Port -
- 333
108
ZEOBEHRRE]
& Name SHORT anﬂwogzzo HYD. CYLINDER 158 | |
i Spec ok Model TK—A1068
& B @ ® |l Extend cm’ | 170.1
Eff. piston area | #l Retract cm?| 155.3
[ Piston stroke mm| 25
REHEE Mox. speed r.p.m. | 5500 | @ HHAREELEBELME LBREANE
SEMFARN  Max. pressure kqf/cm’| 45 | ® The drain port should be independently connected to oil tank
| Moment of intertia kgf m’| 0.065 to avoid back pressure.
= Weight kgs | 19.2 Coaps TEHIF AL HPR 2 5]
BERE  otal oil leakage liter/min | 4.2 | *ARiREREEONRE KATRASHIEAE. *Subiject to technical changes. AFER AUTOGRIP_MACHINERY CO., LTD.
A3 (&% B | 1 | 2 _ 3 _ 4 _ 5 _ 3 [7]B8 | 2016/08/01 | # € | \CLD2\CF-TK-A1068




